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— Q%2977 MW PEN AVAR AT YT
It is similar to one who transports an object 2''7792 X"7

OVERVIEW

The X713 1s seeking a precedent for the 7127 who maintain that "7 XX15
nonI0 777 2" is 27n. The precedent that was originally chosen was the
case of 1"1772 X"7 7"2ynn, where he carried it more than nX '7 before making
a 7mi7. Our MooIn asks that the exact same idea can be derived from the case
of 9"77% *"n X°¥mn, which has the advantage that it is more similar to the
case of the 71271 °R1Y 12 nPYonA.

mooIn anticipates a difficulty:
— Doy N2 99N NININN VPINY MY MN
The X773 should have selected the case of 2"77% "7 X%, since this is

what was discussed previously. The np¥onn between 11271 *X1Y 12 was in a case of
nona2 717 7" 2" Xoxwan. Seemingly it would have been more appropriate to choose a
case similar to it, namely 1"77% >3 ®°¥wan, and point out the same idea as by X"7 7°2yn
1"7773, that as long as the "1 XX is walking in the 7" until he puts it down he is 705,
and only when he puts it down is he 21. Why does the X713 choose a case of X"7 72yn
1"1772, which is not as similar to the np12nn between 73271 ¥"2?!

mooIn responds:
— RDOWYN 33) 799 0P Pa¥n VPI 991 ANAT DIYM NN
However, since later (after the X3 rejected the first attempt' at finding a
precedent) the X7»3 brings another case of *"772 X"7 <%ay» as a possible
precedent, (and that precedent is valid only by 7"772 X"7 7°2v7n) therefore he
chose the same term of 7°2v7 also now in the first attempt to show a precedent.’
$IINRP 0290 Y N9aYN %Y Do)
And indeed when the X713 chose the term 7727 it meant to say all types of
transporting objects in a 9''719 including 1"77% *"77 7817 and 2772 R"'7 AR,

" The case is where he was 72y more than nnx 7.

* This case is where he was 72y» exactly nwX '7 and no more.

3 The X a7 770n was aware of the different attempts to find a precedent, and chose to record them, even
those that were rejected. He however wished to use a similar language in the various attempts. The term
9°2vn here means both (R"7) 7°2vn and 1"'777 "7 XX,
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SUMMARY

The X773 did choose a similar type of XX for its precedent. It chose the term
7°2yn however (instead of the term X°X¥17), since the term 7°2¥7» may refer to
both 1"777% > X*¥1M and 1"772 R"7 avn, therefore it would be appropriate
for both the 73271 °X1¥ 12 nP12n which is discussing 1"77% "7 Xoxwan, and
also for the following attempt in the X713 to find a precedent for the 7127
which is in a case of *1"712 R"7 172w,

THINKING IT OVER

There seems to be two parts to NMdOIN answer; a) That he chooses 7°2vn
because it is used later, and b) That the term 2°2v7 refers to all types of 772v7.
Is this redundant, contradictory or complementary?

* See X"wAn. See onnax "1 for an alternate explanation of MdoIN, that the expression 1"A72 772w "1y 222)
8P, refers to 131 27, that he meant both cases either more than X"7 or exactly w"»y ,X"7.
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